Bronze

1a. Use the hundredth squares to
complete the calculation below.

+ =

Usze complements to 1 to help you.

2a. Uze partitioning to find a complement
te 1 and the number line to solve the
cdleulation.

0.5+0.75

ARN
-
:l'.'l 0.1 02 0.3 ﬂ.lﬁlﬂ.ﬁﬂ.?ﬂ.ﬁ 0F 1 L1 12 1.3 14 1.8

1b. Ben ha: 2 bottles of milk which
contain 1.15L altogether.

One of the bottles iz shown below.

[ ]

0.62L
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Ben thinks the other botle contains 0.43L.

Is he correct? Convince me.
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3a. Complete the p:lri whole model.
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2b. Calculate the missing length on the
cable.

1.05m

A‘Hm
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4a. Complete the addition:

0.35 + 0.67

3b. Compare the calcvlations below and
complete using any of the following
symbols:

- =
0.89 + 0.93 0.91 + 0.91
0.23 + 0.78 0.12 + 0.89
048 + 0.84 0.95 + 032




Silver

5a. Use the hundredth squares to
complete the calculation below.

Use complements to 1 to help you.

éa. Use partitioning to find a complement
te 1 and the number line to solve the
caleculation.

0.625 + 0.575
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4b. Ali has 2 bottles of lemonade which
contain 1.547L altogether.

One of the bottles is shown below.

0.728L

Ali thinks the other bottle contains 0.93%L.

Is he correct? Convince me.

7a. Complete the purf whole model.
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5b. Calcvlate the missing length on the
material.

0.358m

1.274m

8a. Complete the addition:

D.653 + D.373

&b. Compare the calcvlations below and
complete vsing any of the following
symbols:

< b =
0.903 + 0.098 0.576 + 0.583
0.835 + 0.645 0.243 + 0.792
0.432 + 0.975 0.231 + 0.793
0.321 + 0.849 0.365 + 0.909




Gold

7a. Use the hundredth squares to
complete the calculation below.

Use complements to 1 to help you.

10a. Uze partitioning to find a complement
to 1 and the number line to z2olve the
caleulation.

0 ones, 52 hundredths and 5 thousandths
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7b. Jay has 2 bottles of fizzy water which
contain 1L + 820ml +14ml altogether.

One of the bottles is shown below.
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Jay thinks the other bottle contains 8&&ml.

0.958L

Is he comrect? Convince me.

11a. Complete the bar model.

0 ones, ¥ tenths and

0.923 75 thouzandths

8b. Calculate the missing length on the
road.

0.689 km _~
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12a. Complete the addition:

0 ones, 7 tenths and 14 thousandths
Fs

0.497

¥b. Compare the calculations below and
complete vzing any of the following
symbols:

< > =

1 one, 8 tenths and

47 thousandths 0.17 + 0.8935

1 ene, 4% hundredths

and & thousandths 0.638 +0.784

1 one, & tenth: and

93 thousandths 0.896 + 0.79%




Challenge

1. Take a look at the additions below. Use the number cards provided to complete the
sums. You must make sure at least 1 exchange occurs.

You can vse each number card up to two times in each sum (number: already shown
do not count).

A0 . .. 0 . 7] |0

+ 0 . + 0 . 9
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2. Charlie has a smaill svitcase that can carry a maximum weight of 2.00 kg. He has
already packed his favourite toy which weighs 0.191 kg and some essentials which
weigh 0.341 kg more. He also wants to pack some gifts.

How many different gifts could he take with him without going over his limit?

i = '\ "™ i

0.399 kg 0.392 kg 0.212 kg 0417 g




